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1. What is the solution of

logm{l—{lﬂ—(l—-xz)_l}_l} o1

(a) x =100
(b) x=10
(c) x=1
(d x=0

. If A is an integer and a, S8 are the roots

of4x2—16x+%=0 such that 1 < a <2

and 2 < <3, then how many values
can A take ?

(a) 3
(b) 9
(c) 14
(d 15

6% +7% +8% 492 +102

V7 +443 -4 +23

. What is equal

to ?

(a) 330
(b) 340
(c) 355
(d) 366

If XP=y+z, yP=z+x and Z=x+y,
then what is the value of

1 1 |
——+ + ?
X+l -+l 2+l
(a) -1
(b) 1
(c) 2
(@ 4

S. What would be the- maximum value of O

in the equation
5P9+3R7+208=1114?

@ 9
®) 8
© 5
@ 4

. A is a set of positive integers such that

when divided by 2, 3, 4, 5 and 6 Teaves—
the remainder 1,2,3,4 and 5 respec-
tively. How many integers between
0 and 100 belong to the set 4 ?

(a) No integer
(b) One

(¢) Two

(d) Three

. In an examination, a student was asked

to divide a certain number by 8. By
mistake he multiplied it by 8 and got the
answer 2016 more than the correct
answer. What was the number ?

(a) 252
(b) 256
© 258
d) 260

. In the quadratic equation x*+ax+b=0,

a and b can take any value from the set
{1, 2, 3, 4}. How many pairs of values
of @ and b are possible in order that the
quadratic equation has real roots?

(a) 6
(b) 7
(c) 8
(d) 16



1..1og10{1—{1—(1-—x2)_1}“1] g

TR ?
(a) x=100
b) x=10
(c) x=1
d x=0

Laf A s R R q, poEEHERE
4x2—16x+%=0%n§wm%%
1<o <23R2<B <38, A AH fhaa 7
T HHd € ?

@ 3

b 9

(c) 14

@ 15

6% +7% +8% +9%2 +107
" T+a3 444243
(a) 330

(b) 340

() 355

(d) 366

W E ?

,Zlﬁ-;_xz=y+z,y2=z+x3ﬁizz=x+y%,
1 i 1 i
x+1 y+1 z+l

(@ -1

) 1

(c) 2

@ 4

FTAF TS ?

5. TR 5P9 + 3R7 + 208 = 11143 Q &

Frftreaw WA 91 BRI ?
@@ 9
() 8
(€ 5
@ 4

. A I 4T quiTent, S 2,3,4, 53R 6/

s R sm W) w1, 2, 3, 4
3R 5 ATFHA BT B, BT Th =97 ¢ |
T A # 0 & 100 % o= o Fra qurien
BAr 7 |
(a) TS gurleR L

() T

©
) o

| et e F, wH Rt @ w fifew

gE i 89 frmfora ot o ford g1 1 |
el A FEN T H 8/ N R fean AR
I T IR | 2016 31t wrw foar | T
e T 49t ?

(@) 252

(b) 256

(c) 258

d 260

. e wlieR P+ ax+bh=0% a 3R b,

= {1,2,3,4) 8 frlt A Ao @
RIS | ¢ 3R b & 9 & W fFam IR
wwa ¥ foms fog feuma wefieRe & A
qreafas 8t ?

(@ 6

(b) 7

(c) 8

@ 16
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9.

10.

11.

12.

The sum of the squares of two positive
integers is 208. If the square of the larger
number is 18 times the smaller number,
then what is the difference of the larger
and smaller numbers ?

(a) 2
(b) 3
(c) 4
(d 6
Let 4 = {7, 8; 9,10, 11; 12} "and
B={7, 10, 14, 15}. What is the number

of elements in (4A—-B) and (B-A)
respectively ? : '

(@) 2 and 4
(b) 4 and 2
(c) 2 and 2
(d) 4 and 4
A boy saves Rs. 4:65 daily. What is the

least number of days in which he will be
able to save an exact number of rupees ?

(@ 10
(b) 20
(c) 21
(d) 25
Two men, A and B run a 4 km race on a
course 0-25 km round. If their speeds are

in the ratio 5:4, how often does the
winner pass the other ?

(a) Once
(b) Twice
(¢) Thrice

(d) Four times

SDC-S-TRD - A

13.

14.

15.

16.

Which one of the following rational
numbers has non-terminating and repeat-
ing decimal expansion ?

: 15
@ Te00
® 2
8
© =
° 50
(L
Al
If  and B are the two zeros of the

polynomial 25x* — 15x + 2, then what is
a quadratic polynomial whose zeros are
a)™" and 28)" ?

(@) x*+30x+2
(b) 8x* —30x + 25
(©) 8x° - 30x ‘
(d) x*+30x

What is the remainder when 2'% is
divided by 101 ?

(@) 1

M) 11

) 99

d 100

In an office, one-third of the workers are
women, half of the women are married
and one-third of the married women
have children. If three-fourth of the men
are married and one-third of the married
men have children, then what is the ratio
of married women to married men ?

(a) ' 1:2
by 2% 1

(©)8:1

@ 1:3



9.

@

@

10.

11.

12.

aWTﬁ%ﬁWWZOS%.I
gfe ISt GEA &l a1 B T H 18 TA &,
N LY 3R BYET WA FHT IR AT ?

(b)
(©)

[ VS N

AM T 4 = {7, 8,9, 10, 11, 12} 3R

B=1{7,10,14,15} % | (4— B) 3R (B - 4)
# sagat i gEa s e ?

(@) 23R 4
(b) 4 3K 2
(c) 232
d) 43R4

e Wt wfafed 4-65%. s=mar g | feat
9% <AqH e 1 g, e a8 3
4T hY GEAT ST WA ? '
(a) 10

(b) 20

{c) 2i

@ 25

Tl 3ATeHt, A 3R BT 0-25 km & MATRR
99 W 4 km & eig @d © | afe s

TR T AT 5 ¢ 42, A ST a1 g
¥ foraet IR amt frspaan @ 2

(a) T =R
() IR
(c) s R

(d IR &R

13.

frefufea # ¥ F7 @ wF o gen
I SR TR AT FHR ATt

%5

14.

15.

16.

15
1600
23
s
35
50
17
6

(a)
(b)
(c)
(d)

afe sigae 25x2 — 15x + 2% 3 Y0F o AR
B &, @ 7 foma agug F A s
LIS (20)7 S (2B)7 € ?
(@) x*+30x+2

(b) 8 —30x+25

(c) 8x*—30x

d X +30x

St 2! & 101 @ Rwfsa form s, @
AYEA T BRI ?
(@ 1

®) 11

(©) 99

@ 100

T SAifea o, G- ferd et Afeamd €,
wfgarett # & sl wigard faarfea € ik
forafea afeemnsn @ & ue-foers wieemsi
a4 € | afe geut # @ dF-duE ge
frarfea g1 ok T=-foerd foanfea geat &
== =, a1 feafea Afeanstt &1 farfea
ST & T T FITT § ?

(@) Li2

() 2:1

) ghc B4 |

d 1:3

A = SDC-S-TRD
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18.

19.
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A can do 50% more work than B in the
same time. B alone can do a piece of
work in 30 hours. B starts working and
had already worked for 12 hours when
A joins him. How many hours should
B and A work together to complete the
remaining work ?

(a) 6 hours

(b) 12 hours

(c) 4-8 hours

(d) 7-2 hours

When the speed of a train is increased by

20%, 1t takes 20 minutes less to cover
the same distance. What is the time

taken to cover the same distance with .

the original speed ?
(a) 140 minutes
(b) 120 minutes
(¢) 100 minutes

(d) 80 minutes

A candidate scoring x% marks in an
examination fails by a marks, while
another candidate who scores y% marks
gets b marks more than the minimum
required pass marks. What is the
maximum marks for the examination ?

@) 100(a +_l-7)
x=y

100(a - b)
®) X+y

@ 100(.:1 +b)
y—x

5 100(a - b)
x=3

©20. If p and q are the roots of x*+px +¢ =0,

21

22,

then which one of the following is
correct ?

(a) p=0orl

(b) p‘ =1 only
(c) p=—2o0r0
(d p=-2only

The cost of 2:5 kg rice is Rs. 125. The
cost of 9 kg rice is equal to that of 4 kg
pulses. The cost of 14 kg pulses is equal
to that of 1-5 kg tea. The cost of 2 kg tea
is equal to that of 5 kg nuts. What is the
cost of 11 kg nuts ? :

(a) Rs. 2310
(b) Rs. 3190
(c) Rs. 4070

(d) Rs. 4620

Which one of the following is correct in

respect of the number 1729 ?

(a) It cannot be written as the sum of
the cubes of two positive integers

(b) It can be written as the sum of the '
cubes of two positive integers in
one way only

(¢) It can be written as the sum of the
cubes of two positive integers in
two ways only '

(d) It can be written as the sum of the
cubes of two positive integers in
three ways only



17.

18.

19.

(@

ek THT GHE H A, B & 50% 3 H 9

THAT R | B 3RFeT T & Y 30 HE H G
R GHAT & | B Y& FAT §, AR Iqh

12 52 T 14 K O & 915 4 I8 9™
ferehe o A T € | A g FH
R FA F forw 4 3R B e = frera
w1 HGT ?

(a) 6 &

(b) 12 =2

(c) 48 =2

(d)‘7-2a%

1 e XTI o e 20% st 2, A
T O 9 FA A 20 free F9 o @ |
! i FTe | SET FE G bl
A # foran awa R ?

(a) 140 fime

(b) 120 fme

) 100 fiFe

(d) 80 fime

foret atem & uw AWl x% 3 T HLAT

2 3R ¢ 3l & Tl B ST &, SAeAfR G
9Tt S yY% 3 WTH IRl & S8 gAaH
ATATA I 3RT & b 37eh 3(fereh WTH Bl
| e & aftrenan 3w T E ?
100(a +b)

=)
100(a - b)

X+y

(a)

(b)

100(a +b)
y—x
100(a — b)
x—y

(c)

20.ﬁx2+px+q=0aﬁ"f'fp3ﬁ1q%, ar

21.

22,

i s o el 8 2

(a) p=039ar 1

(b) e p=1

(c) p==22394a1 0

(d) *ad p=-2

25 kg <9 el FWE 125%. © | 9 kg &
FY FHA 4 kg T 6 HHT F TR 2 |
14 kg T Y A 1-5 kg =T Y O=AT &
SER B | 2 kg W <t =it it AT S kg

7z (FieR wer) & sReR & | 11 kg 7 &
FAd T8 ?

(a) ®. 2310

(b) ®. 3190

(©) . 4070

d) E 4620

e 1729 & dey # fr=fafaa § @
S 1 Ush 99 T8l © ?

(2) ZA S UTHS qUTiehi o BT < AR 6
=7 & wet forar < vt 8

(b) A T ATCHS YUTTeh & BT & AN &
&9 # 9o T B ghR q foran S
qohal &

(c) @ﬁm@ﬁﬁ%aﬁ%qﬁw%
w7 & Faa ¢ TR ° forar ST "ahdn
2 | |

(d) =8 QF UFTHS UTTehl o HAT & AR &
T H Fad dF WhR A Teran s wenan
?

A — SDC-S-TRD



23.

24,

295

A shopkeeper increases the cost price of
an item by 20% and offers a discount of
10% on this marked price. What is his
percentage gain ?

(a) 15%
(b) 12%
(c) 10%
(d) 8%

There are two numbers p and ¢ such that
their HCF is 1. Which of the following
statements are correct ?

1. Both p and ¢ may be prime.

2.. One number may be prime and the
other composite.

3. Both the numbers may be com-
posite.

Select the correct answer using the code
given below :

(a) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

What is
1 1 (S|
Lttt Sl lib—ttr . o &
L2 2= 3

1 1
1+ + g7 cqual to?

20072 200
(a) 2008 L
2008
(b) 2007 -1
2007
. 1
8): * 2007 en
© 2008
(d) 2008 - 1

2009

SDC-S-TRD - A

26.

27.

28.

A person can row downstream 20 km in
2 hours and upstream 4 km in 2 hours.
What is the speed of the current ?

(a) 2 km/hour
(b) 2-5 km/hour
(¢) 3 km/hour
(d) 4 km/hour

Consider the following statements in
respect of positive odd integers x and y :

1. ¥*+9% is even integer.
2. ¥ +32 is divisible by 4.

Which of the above statements is/are
correct ?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

What are the roots of the equation

X
2%t2 97x-T -9 9

(a) - 2, 1»—105;{E
(b) 2, 1-log[—

WM b2
Nl 07 N o

e 0, | LB

log?2
@), +2. 7% log?2
_ log3



23,

24.

23.

T GHER T T & F-7e | 20% B
g T © 3K 38 Sifeha 7 R 10% i
T 3T & | FEeRT W @ FE ?
@ 15%

) 12%

(c) 10%

(d) 8%

q "@d p R ¢ 38 ER B T S

HCFE, 1 & | ffafaa & & &9 @ F99

e e 7

1. p ¥R ¢ QT 3T B EHA &

2. T HEAT AT R GE WA €
Hehell &

T o ™ F w1 wEW R EE W

If

(a) Hae 1 3R 2
(b) hae 2 3R 3
(c) Faa 1 3R 3
@d 1,2 3R 3

1 1 1 1 1 1 '
+_1-i—+2—2+ +EE+3_2+ -

| 1
1+ 5 + 5
.2007 2008

1
a) 2008 ———
®) 2008

' 1
20070
®) 2007

1
g) 2007———
© 2008

(@ 2008-——
2009

26.

27.

T S fh ¥R % TR (SIHATE) 2 5 H
20 km AT FaT @ 3R 4R & Wi 2 5
# 4km TTE AT | AR H ARG ?

(a) 2 km/deT

(b) 2-5 km/®eT

(¢) 3km/9a

(d) 4 km/®er

qTes fawe gt x ek y & fom
frferfaa waat ) fem Hifs

1. X2+ ) a9 qurish &
2. ¥ +)%, 40 fawsa @

S e A @ i A/ T R

28.

() FAA 1
(b) HaA 2

(c) 132 gt
d TaAvL,TE 2

=i '
qHieRRor 25422751 =9 F YA FTE 7

3

a) 2,1-log| —

(@) c:'g(2

2

2,1-logl —

(b) Oé‘{B

log3
log?2
og

log?2
) = 1_(log3]

(c) 2,1

A — SDC-S-TRD



29. There are twelve friends 4, B, C, D, E,
F, G, H, I, J, K and L who invested

30.

31.

32.

SDC-S-TRD - A

money in some business in the ratio of
I 20 354066 Je 89100 11412
and the duration for which they invested
the money 1is in the ratio of
(el i 10 Bl B B R e T R Bl |
respectively. Who will get the maximum
profit at the end of the year ?

(a) F only

(b) G olnly _
(c) Both Fand G
(d) Neithér Fnor &

21224 452+ 8%2 4 4% + 2130 s divisible

" by which one of the following integers ?

(a) 3
(b) 5
() 7
(d 11

If 2p + 3¢ = 12 and 4p° + 4pg — 3¢4° = 126,
then what is the value of p +2g ?

(a) 5

o 2
(b) 2

25
(C)—4"
(d) e

The number of digits in 3*° is n and it is
given that log,, 3 =0-4771. What is the
value of n ?

(a) 13
(b) 14
(c) 15
(d) 16

10

33.

34.

35.

What is the unit digit of 7' 2
(@ 9
(b) 7
(c) 6
(d 3

If 4x + 3a = 0, then what is the value of

X vax+a® 12 —ax+d?

X =g x* +a°

4

Ta
7
a

(a)

(b)

32

(C) : —“%'
g

dy

(d) 5

Incomes of Mahesh and Kamal are in

- the ratio 1:2 and their expenses are in

the ratio 1:3. Which one of the
following statements is correct ?
(a)

Mahesh saves more than what

Kamal saves
(b)
()

Savings of both of them are equal

Kamal saves than what

Mahesh saves

more

(d)

It 1s not possible to determine who
saves more

36. X and Y entered into partnership with

Rs. 700 and Rs. 600 respectively. After
3 months X withdrew 2/7 of his stock
but after 3- months, he puts back 3/5 of
what he had withdrawn. The profit at the
end of the year is Rs. 726. How much of
this should X receive ?

(a) Rs. 336

(b) Rs. 366

(c) Rs. 633

(d) Rs. 663



29.

30.

31.

- (@

32,

A B CDEFGHILJKIL
awe firr €, foeei et =R # srman:
1:2:3:4:5:_6:7:8:9:10:11:12%7
araTa # e o ok frm sty & fog
T ST IEHRT ITA 12:11:10:9: 8
7:6:5:4:3:2:1 | ad &k @ H
Frftreram o fomd v BRI ?

(2) ¥ F

®) ¥ad G

(c) TFI F 3R G
d ANMF,ARG

2!22+ 462+842+464+2130 ﬁ-;;{%ﬁgaﬁ-%
ey o & foerea 2 2

(@) 3

®) 5

© 7

@ 11

afe 2p + 3¢ =12 3R 4p>+ 4pq — 3¢ =126
B Ap+2qgFMAMFTR 7

@.5"

21

4

25

4

99
16

(b)

@)

3%0 3 et it nTEAT B 3R uE feam @ B
% log,, 3= 047712 | n FTHA FME ?
(a) 13
(b) 14
(c) 15
@ 16

11

33.

34.

35.

36.

730 FT THE IF FT R ?
@ 9
(b) 7
(c) 6
(@ 3

ﬂﬁ.’4x+3a=0%,?ﬁ

x? —ax+a? iE.
X =i x? da’

T8 ?

@ —a

x2 + ax +a?

Ta

7

® =

32

“7a
24
Ta

(c)
(d)

HRY IR FASGT T A 1:2 F FIIE H

2, 3R S =¥ 1:3% FUE A © |

fefrfaa o da Fm aTE @l § ?

(a) WY T =T, FAA I 5= @ AfF
2

(b) - I QT Y T9d TR &

(c) &Y<l i =, AW i 59 ¥ JAfereh
? |
(d) T TU AT TN AEH © Toh FiA aAferen

T AT ©

X 3R Y A = 700 3 & 600 % €A
TS AR Y& I ¢ | 94 Ae 916 X
I €21k T 2/7 Toremtet o @ 8k e
MY T H1 3/5 A AGH o5 TR & ST
FRATR | TS F AT H A E,. 726 ® | TR
A T x =t fiemn =nfew ?

(a) %336

(b) ®. 366

(c) ® 633

@) =663

A - SDC-S-TRD



37.

38.

39

40.

(d)

A tank can be filled by pipe X in 2 hours
and pipe Y in 6 hours. At 10 a.m. pipe X
was opened. At what time will the tank
be filled if pipe Y is opened at 11 a.m. ?

(a) 12:45 hours
(b) 5:00 p.m.
(c)

(d) 1i:50 am.

11:45 am.

A train is travelling at 48 km/hour
completely crosses another train having

half its length and travelling in opposite

. direction at 42 km/hour in 12 s. It also

passes a railway platform in 45 s. What
is the length of the platform ?

(a) 600 m
(b) 400 m
(c) 300 m
(d) 200 m

The speeds of three cars are in the ratio
2:3:4. What is the ratio between the

times taken by these cars to travel the

same distance ?

(a) 4:3:2.
(b) 2:3:4
(c) 4:3:6
(d 6:4:3

If the mean age of combined group of
boys and girls is 18 years and'the mean
of age of boys is 20 and that of girls is
16, then what is the percentage of boys
in the group ?

(a) 60
(b) 50
(c) 45
40

SDC-S-TRD - A

12

41.

B 8
(0]

43.

44.

Tr
. 11 a

The area of four walls of a room is
120 m*. The length of the room is twice -
its breadth. If the height of the room is
4 m, what is area of the floor ?

(a) 40 m’
(b) 50 m?
(¢) 60 m
(d) 80 m?

square of side x and an equilateral
triangle of side y are inscribed in a
circle, then what is the ratio of x to y ?

(a) \E

3

(b) \/;
3

(c)

“[& &

(d)

The ratio of the curved surface area to
the total surface area of a right circular
cylinder is 1 : 2. If the total surface area
is 616 cm’, what is the volume of the
cylinder ?

(a) 539 cm’®

. (b) 616 cm’

(c) 1078 cm’
(d) 1232 cm?

A cubic metre of copper weighing

9000 kg

va weallad 11fa o amiara: a0 s
I5 1ullcu 1w d syudic Ddar ¥ 1m
long. An exact cube is cut off from the
bar. How much does the cube weigh ?

(a) 1000 kg

(c)

3
300 kg
(d)

500
— k
3 g



37. qaﬁ‘a'zﬁ,trrszcrxﬁzﬁ%ﬁ IRURT YA

38.

39.

- ®
©

6 H¢ H W ST gehclt © | W 10 <t qEY
X @ T | 3 fran e W s afe
qrEg Y uTa: 11 o9 @i S g ?

(a) 12:45 Qe
(b) 5:00 IR
(©)' 11:45 TG
(d) 11:50 F=&T8

e LRS! AT 48 km /52T & o & 8, 39t
T | e TS A T S! R, S
frdia feam # 42 km/HeT @ w9 W R,
125 ¥ 9 ORE & IR FAl § | I8 T A
wleh™ & W 45 s | oRAT § | Tew &
waTE TRt § 2 " '
(a) 600 m

400 m

300 m

(@ 200m

7 R B T A 203 4 2 |

&R GRT Teh §0H G T HA § a0 el

(@)

40.

- (©

TG T AT 4T @ ?
42332
2234
4:3:6
6:4:3

®)
(c)
@

of e o e & O g W

AT A1G 18 W © AR ASH hl TG

TR 20 3R FRAT HT A F A 16 8,

a aue § gt i wfasrar =T ¥ ?
(a)
(b)

()

13

41.

42.

43.

44.

@

T R TR QAR F AT 120 m’
2lam A deE SR e Mg e |
afe FR N F9E 4m &, T B T AR
TR ?

(a) 40m?

®b) 50 m?

(c) 60m?

(d) 80m’ ,
HﬁﬁﬁTx%TQﬁiﬁ‘faﬁ'{WyﬁTW
TeTg e, e g9 # arda Rl I €,
ﬁxﬁymaﬁqﬁw%?

@) E
3

() J;
3

(c)

& &l

(d

3 |
TS e IR I % A5 I8 &G 3R G
IS kel T U 1:2 ® | afE T I8
A9 616 cm® §, A e T AT FT

3

()
(b)
(c)
(@
IS F TE A AR AN, TrEewr e\
9000 kg &, 9 m TS 1 T FTHR Rrestt
# afcra forar ST € | U 31 U9 =W
faeet @ wrET ST B | W 99 6T a9
foram g ? '

(a) 1000 kg

1000
b) — kg

3
(©) 300kg

500

= K
38
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45.

46.

47.

Into a conical tent of radius 8-4 m and
vertical height 3-5m, how many full
bags of wheat can be emptied, if space
required for the wheat in each bag is
1:96 m’ ? .

(a) 264
(b) 201
(c) 132

(d) 105

Let ABC be a right angled triangle with
BC=5cmand AC=12 cm. Let D be a
point on the hypotenuse -AB such that
ZBCD =30°. What is length of CD ?

- 60
a —
(a) T
b 1_70m
b %

(c) —120 cm
5+12+2

120

AY e
) S+12\/§ CI-n

Two circles touch externally and sum of
their areas is 1307 cm” and the distance
between their centres is 14 cm. What is
the difference in the radii of the circles ? .

(a) 5 cm

(b) 6 cm

(¢} 7cm

(d) 8 cm

SDC-S-TRD - A"

14

48.

49.

50.

51.

In a circle of radius 3 units, a diameter
AB intersects a chord of length 2 units
perpendicularly at P. If AP > BP, then
what is the ratio of AP to BP?

(a) 3++10:3-4/10
(b) 3++/8:3-4/8
©) 3++3:3-43
(d 3:43

What is the number of rounds that a
wheel of diameter li],m will make in
traversing 7 km ?

(a) 3300

(b) 3500

(c) 4400

(d) 4900

A building is in the form of a cylinder
surmounted by a hemispherical dome on
the diameter of the cylinder. The height
of the building is three times the radius
of the base of the cylinder. The building

contains 67% m> of air. What is the
height of the building ?

(a) 6m ’

(b) 4m

(€).3m

(d 2m

The radius of the base and the height of
a solid right circular cylinder are in the
ratio 2:3 and its volume is 1617 cm’.
What is the total surface area of the
cylinder ? '

(a) 462 cm’

(b) 616 cm’

(c) 770 cm’

(d) 786 cm?



45.

& wia ave, e Brear 84 m 3R
SR F91 3-5 M@, § I & fohat W ey
et et ferd ST W €, afe wce O |
1 & o 1:96 m?* SRTE 1 Saearehal & ?

(a) 264

(b) 201
(c) 132

(@) 105

46.

47.

A T 5w wEet B ABC @

E{BTBC=SCm3ﬁ{AC=12cm% | |
AT ol AB ) T foig D30 TR ® T6
ZBCD=30°% | CD & s 1 © ?

60 -
— cm

(a) =

17
— Cm

B2

120 e
5+12\/E

(c)

120

®.

&g 4 9 srer: sl aRd € SR I
&Fe! T AW 1307 cm’®, 3R I

¥ % o A g 14 om B | A
%maﬁemaiav:w%?

(a) 5cm
(b) 6 cm
(¢) 7cm

(d 8cm

15

48.

49.

50.

3 1 from 3 T 39 #, = 4B,
2 THTE S U ST S P R e vl
FaT @ | afc AP>BP ®, @ AP &1 BP ¥
ST T 7

(a) 3++/10: 3-4/10

(b) 3++/8:3-4/8

) 3++3:3-43

@ 3:43

E?H%d?ﬁti%lw%,‘&ﬁ%m“émﬁ?ﬂ
e ufegdn 7 km F @ @ FA F feg
T ?

(@) 3300

(b) 3500

(c) 4400

d 4900

TF TART A F AHR A 36 UhR ¢ &
o F W R AL G @ ¢ |
TR &l 4TS, S & YR i Froan 6
A T R FRA A 67-L m’ e 2
TRA I FAR T8 7

(a) :
(b)
(c)
d)

6 m
4 m
3m

2m

. TF 3 Fea<d Seq & AUR hi e

3R IEh! FE w1 AT 2:3 ®/, IR
ZHHT AT 1617 cm® B | ST &1 FA
YT &he T8 ?

(a) 462cm’

(b) 616 cm’

(c) 770 cm®

(d) 786 cm’

" A — SDC-S-TRD



52.

53.

54.

5S.

~SDC-S-TRD - A

The cost of painting a spherical vessel of
diameter 14 c¢m is Rs. 8008. What is the
cost of painting per square centimetre ?

Rs. 8
Ry 9
Rs. 13
Rs. 14

If a quadrilateral has an inscribed circle,
then the sum of a pair of opposite sides
equals

(a)
(®)

Half the sum of the diagonals

Sum of the other pair of opposite
sides
Sum of two adjacent sides

(©)
(d)

None of the above

A circle and a square have the same
perimeter. Which one of the following is
correct ?

(a)
(b)

Their areas are equal

The area of the circle is larger

: -
(c) The area of the square is 7 times
area of circle

The area of the square is x times
area of circle

(d)

A drinking glass of height 24 c¢m is in
the shape of frustum of a cone and

~ diameters of its bottom and top circular

ends are 4 cm and 18 cm respectively. If
we take capacity of the glass as 7x cm’,
then what is the value of x ?

(a) 824
(b) 1236
(c) 1628
d) 2472

16

56.

<

58.

59;

In an equilateral triangle another
equilateral triangle is drawn inside
joining the mid-points of the sides of
given equilateral triangle and the
process is continued up to 7 times. What
1s the ratio of area of fourth triangle to
that of seventh triangle ?

(a) 256 :1

(b)y 128 :1

(c) 64:1

3 R

Rain water from a roof 22mx 20 m
drains into a cylindrical vessel having
diameter of base 2 m and height 3-5 m.
If the vessel is just full,. what is the
rainfall ? :

(a) 3-5cm

(b) 3 cm

(¢) 2:5cm

(d) 2 cm

The height of a cone is 60 cm. A small
cone is cut off at the top by a plane

parallel to the base and its volume is
é the volume of original cone. What is

- the height from the base at which the

section is made ?

(a) 15 cm

(b) 20 cm

(¢) 30 cm

(d) 45 cm

If two tangents inclined at an angle 60°

are drawn to a circle of radius 3 c¢m, then
what is the length of each tangent ?

(a) 343 cm

(b) /3cm
(c) 6 cm

(d) 2+/2 cm



52,

53.

54.

55.

14 cm =418 & T Mellg 919 9K Eery
A I HHT &, 8008 ® | Ufer = AediwieR
i s S r T g ?

(a)
(b)
(c)
(d)
afs TE wgHst § UF e 8, 9 weE
HTISAT & T 3 HT ANTHS BT

(a) fareport & A0 =7 3mem

(b) THE@ AT H AL I T TATHA
(c) T ATHN HSTIAT BT AR

(d) Sww & FiE 78
wqaaﬁtqaaﬁw-qﬁmqmél
ﬁmﬁ—rﬁwﬁﬁaﬁam@ﬂé%?

(a) SAF BFhA SR B

(b) T T A ST

T. 8
w9
.13
T, 14

.(c) aﬁm@w,w%éﬁwmgw

E
(d) o &1 &Rt I F SRS B 7 T

ﬁw&ﬁmﬁﬂﬁmﬂlcmél
foret o & foua & AR @ 7, T@E
fraet ofk SRt g Bt &1 = e
4cm 3R 18 cm B | ﬂﬁﬁ[ﬂm?ﬁ &HAT
mx cm’ 8, a7 x T | 7§ ?

(a) 824

(b) 1236

(c) 1628

d) 2472

17

56.

TS e e & ok, fed @ wwag
Bt &t syeatt & wemfargett &t Sied g
Teh GERT GHaTg B9 ST 91 8, 3R 98
afshar 7 IR H S g | =Y Bryw &
CEETICI I CERRER M E e o

I ®?

7.

58.

59.

(a) 25651
(b) 128:1
(c) 64:1
(d 16:1

22 m x 20 mehY Ueh = & 997 1 57T 2 m
E & AYR TH 3-5m FAT5 9 Th
SerTeRR T | e @ | 7l ur Si-die
TR W T E, a’raﬂfﬁa—dﬂ"‘ré% ?

(a) 3-5cm

(b) 3cm
(¢) 2:5cm
(d 2cm

Teh 1% T SIS 60 cm @ | THH IR &
AR T a1 ° 30 Y R TS BT 9%
ST ST 8, 3R THHT AT qA UF &
ST T g7 © | SMER & e ar 71 @
&t R HE W WY 7

(2)
(b)
(c)
(d)

af 60° & o R Feht g o el Yaa
& 3 om P A w3 & fog fafa
ERIESICIRS ?ﬁﬂ?ﬁlasw&f%@rﬁmé
Eﬂ:n%?

(a) 34/3 cm

15cm
20 cm
30 cm
45 cm

(b) 3 cm

(c) 6cm
(d) 242 cm

A — SDC-S-TRD



60.

61.

(b

62.

63.

SDC-S-TRD - A

(b)

What is the volume of a sphere of radius

3'cm ?

(a) 367 cm’
187 cm’
97 cm’

(c)
(d)

671 cm’

The sides of a triangle are given by

rxja2+b2, c2+42% and (b+c) where

a, b, c are positive. What is the area of
the triangle equal to ?

Vaz +b? +c? ;

2

(2)

\/azbz +b2c2 -+ c2a2
2

a(b+c)
2

(©)

\/3(a2b2 +b2c? +c%a?)
2

(d)

What is area of largest triangle inscribed
in a semi-circle of radius r units ?

(a) ' #* square units
(b) 2/ square units
(c) 37* square units

(d) 4r* square units

The diameter of the front wheel of an
engine is 2x cm and that of rear wheel is
2y cm. To cover the same distance, what
is the number of times the rear wheel
revolves when the front wheel revolves
n times ?

18

@ %
® =
©
@

For the next three (03) items that follow :

A tent of a circus is made of canvas and is in
the form of right circular cylinder and right

circular cone above it.

The height and

diameter of thé cylindrical part of the tent are
5m and 126 m respectively. The total height
of the tent is 21 m. '

64.

65.

66.

What_ is the slant height of the cone ?
(a) 60 m |

(b) 65 m

(c) 68 m

(d 70 m

What is the curved surface area of the
cylinder ?

(a) 1980 m’

(b) 2010 m’

(c) 2100 m®

(d) 2240 m’

How many square metres of canvas are
used ?

(a) 14450

(b) 14480

(c) 14580

(d) 14850



60.

61.

- ©

62.

63.

3 e arer T M & smEae feaen
g7

(@) 367 cm’

(b)) 187 cm’

() 97 cm’

d) 6xcm’®

et B Y soe & va? +52,
Vet +a? IR (b + ¢) TR ==k Topar wmar
®, S8l a, b, ¢ TATHS © | Bt 1 gt
forereh s ® 7 -

\Jaz +b2 +c>

(a) 5

\/azbz +b2c? + 2a?

®) - :

alb+c)
2

V3(a26? + b2 +2a?)

d
(@) >

Brewn » Tl & T Agaa F il SR
T Fa@ 73 B &1 g @ @ 7

(a) r* = Al

(b) 2/ = vl |

(c) 37 =i il

d) 47 a1 s

T 9 3 o R F1 T 2x om ® AR

fiea ofed w1 =A@ 2y cm R | TF T Q@
T A & oy e afed «t ot IR

Y[R BT, AfE 3 afeat » R gwar © 7

19

@ —
ny '
®) 2

(©)

<[ &

(d

:IQ

T A (03) Wit & foro o A= 2R
™ E: | .

TS TXHE 1 TH] Hedd T &1 § | 98
T S & &9 A 8, T Fw o= g
TF T | T & SRR HET B I IR
E FAN: SmIAR 126 m B | T it o
AR 21me |

64. oiF Y R I et 2 2
(@) 60m
- (b) 65m
(c) 68m
(d 70m

65. SIS T 5k T8 SR fohaeT © ?
(a) 1980 m?
() 2010 m’
(c) 2100 m?
(d) 2240 m?

66. foram =rfitex Swrw wigeh g3 ?
(a) 14450
(b) 14480
(c) 14580
(d) 14850

A — SDC-S-TRD



67.

68.

69.

The wheels of a car are of diameter
80 cm each. The car is travelling at a
speed of 66 km/hour. What is the
number of complete revolutions each
wheel makes in 10 minutes ?

(a) 4275

(b) 4350

(c) 4375

(d) 4450

What is the area of a triangle with sides
of length 12 cm, 13 cm and 5 cm ?
(a) 30 cm’

(b) 35 cm’

(c) 40 cm’

@ 42 cm?

If the perimeter of a:circle is equal to
that of a square, then what is the ratio of

. area of circle to that of square ?

70.

Gy 2247

(b) 14:11
(¢) . 7522
(d 11:14

ABCDA is a con-cyclic quadrilateral of
a circle ABCD with radius r and centre
at O. If AB is the diameter and CD is
parallel and half of 4B and if the circle
completes one rotation about the centre
O, then the locus of the middle point of
CD is a circle of radius

@ 3
2r
k). 3

SDC-S-TRD - A

Ths

72.

73

2«/51‘

5 5
A3
R

If sin@ + cosO = g, then what is

sinf — cosO equal to ?

(a) 0O
5 ik
® 5
(c) 1
@ 2

If sinx+sin’x=1, then what is the
value of cos®x + 2cos’s + cos*x ?

(a) O
(b) 1
(c) 2
d) 4

A man from the top of a 100 m high
tower sees a car moving towards the
tower at an angle of depression 30°.
After some time, the angle of depression
becomes 60°. What is the distance
travelled by the car during this time ?

(2) 1003 m
& 2003 "
3
© 10043 i
3
(d) 20043 m




67. TF HR F s qfed &1 = 80 cm |

68.

69.

70.

FR 66 km/=eT 6t 7T & I W R | TAE
afear IOﬁ?Eﬁﬁﬁ?ﬁthﬂfThaﬂﬁT
EF
(a)
(b)
(c)
)

12cm, 13 cm 3R 5 cm T T STl
AT T T 1 8her foraem @ 2

(a) 30cm?

() 35cm?

(c) 40cm’

(d) 42 cm?

4275
4350
4375
4450

afs T g9 it aitfr uw =t Y ofmm &
SRR 8, Al I & &l &, I & Lo
& WTF AT HT BRI ?

(d) 2257

(b) 14:11

(e) 7:22

d 11:14

r AT 3R O & a1l U g9 ABCD S

| T THFA g ABCDA R | e AB

= 8, 3R CD % GHIRR 3R AB &7
T ® | Afe 39 I 0% IR 3R T ol

Waﬂm%aﬁCD%Wﬁr—gaﬂﬁ@a,
fraft B T um ga @ 2

()’

(b)

21

71.

72.

73.

) 2«/§r
3

\/_r

—

(d)

afs sin6+c039=i; 3
sinf— cosd Terwch RTeX @ ?
(a) 0

(b)
(©)
@ 2

afq sinx + sin’x = 18, A

I
2
1

“cos®x + 2cos®x + cos'x FTHH TR ?

(@ 0
(b) 1
() 2
d 4

100 m 3 T 2R & 9 & T et 30°
HATHT I A T HR ! TR hY 3R 3
TC WA B | T WA NG, AT R0
60° B STaT @ |3aﬁwﬁmmmaﬁr
Tt 0 forat @ 2

100\/5 m
20043
- m

3

1003
'——'3 m

200+/3 m

(a)

(b)

(c)

(d)

A — SDC-S-TRD



74,

Two men on either side of a tower 75 m
high observe the angle of elevation of

the top of the tower to be 30° and 60°.

" What is the distance between the two

75.

76.

77.

(a)

men ?

(a) 10043 m

(b) 75@ m
1004/3

— 11

@ =3

(d) 6043 m

What is the value of
cosec268° + sec?56° — cot?34° — tan?22° ?

(a) O
® 1
() 1
(d 2

If 2y cos@ = x sin6 and
2x secO — y cosech = 3,
then what is x* + 4y* equal to ?

(a) 1

(b) 2

(c) 4
d) 8

++/3

If sin@ + cosO = —1—2— here 0<9<%,

then what is tan@ + cotf equal to ?

(b):

SDC-S-TRD - A

22

78.

(0

79.

80.

© 3

4

If A=sin’0 + cos'@ where 0'59<§,

then which one of the following is
correct ?

(a) 1<A4L2

(b) 2sfrlg :
4

E£ASZ
16
<13

d s
@ 16

O
4

cot A+cosec A—1
cotA—cosecA+1.

What is equal to ?

1+cos 4
sin 4

(a)

(b) 1 —.COS A
© sind

1+sin 4
cos A

(c)

1-sin 4
cos A

(d

Consider the following :

1. sin 1° >sin 1°

2. cos 1° < cos 1°

3. tan 1° > tan 1° |
Which of the above are not correct ?
(a) 1 and 2 only

. (b) 2 and-3 only

(¢) 1 and 3 only

(d 1,2 and 3



74. 75 m3= T TR F GHIT a6 G &1 3re @i
TR o ST o I=Iae iV T 30° 3R 60°

: . ; 4
F urt € | Qe et & s A g 9 x
fepaet 2 7 | y
(2) 1003 m ‘ 78. uﬁ'A=sin29+_cos46%,Gl%T'059<§-%,
() 75V3m T Fefafg da s o= w8 2
' (a) 142
. 10(;«/5 & | :
_ | (®) L SA4s1
(d) 60+/3m
@) ok AL
75. cosec’68° + sec?56° — cot?34° — tan?22° T 16 —
S @ 25 el
@ 0 47716
(b) % 79, cot A+cosec 4A—1 - 29
@) i cotA-—cosgcA+l
@ 2 (2) 1+cos 4
sin A
76. G 2y cosf=x sind 3R (b) 1-cos4
2x secO— y cosec =3 %, sinA
?-ﬁx2+4y2ﬁ?ﬂa~7m%? © 1+sin 4
@ '1 " cos A
®) 2 @ l-sin A4
cos A
(c) 4
'(d) ; so.ﬁw&r%awﬁanﬁﬁm_
1. sin 1° > sin 1°
2. cos 1° < cos 1°¢
77 zrf%smmcosa—-—‘/—% TR 0 < 9<E g fan 1S g e
%,?ﬁtan9+cot9ﬁ7€a€a‘(‘lﬁl?%? IuTh § | @i & Tl TE © 2
(a) Fae 1 3R 2
(a) ﬁ
4 . (b) Fae 2 3R 3
1 (c) e 1 3R 3
® 7 d 1,2 3R 3

23 : A — SDC-S-TRD



81.

82.

83.

SDC-S-TRD - A

If tan®x+

=2 and 0°<x<90°,
tan“x

then what is the value of x ?

(a)
(b) 30°

15

(c) 45°

(d) 60°

If the length of the shadow of a tower is

equal to its height, then what is the Sun’s
altitude at that time ?

@) - 15°
(b) 30°

(c) 45°

() 60°

Consider the following :

1. cos T8 + sin 12° - bos 18°
sin 15°  cos 78° sin 72°

cos 35° . sin 11°

sin 55° cos 79°

cos 28° cosec 62°=1

—sin 59° seé 312'=40

Which of the above are correct ?
(@) 1 and 2 only'
(b) 2 and 3 only
(c)
(d 1,2and 3.

1 and 3 only

24

84.

85.

86.

A pole stands vertically inside a
triangular park ABC. If the angle of
elevation of the top of the pole from
each corner of the park is same, then in
the triangle ABC, the foot of the pole is
at the

(a) Centroid

| (b) Circumference

(c) Incentre

(d) ' Orthocentre

What is the value of
tan1°tan2°tan3°tan4® . . . tan89° 7

@ O
(b) 1

(c) 2

@ 3

The average score of class X is 8&3.
The average score of class Y is 76.
The average score of class Z is 85.
The average score of class X and Y is 79
and average score of class ¥ and Z is 81.
What is the average score of X, Y'and Z ?

(a) 815
(b) 80-5
() 79-0

@ 780



81.

82.

83.

()

WFC{ tanzx + 3
tan“x

A x H AW FT R ?
(a)
(b)
(c)
)

=2 IR 0°<x<90° %,

150

30°

45°

60°

gfe et TR &t o £ T=E STd

I & SRER & @ 99 99T W g
AT fohaeT 8 7 : |

15°
(b) 30°
(©

()

45°
o
ﬁr-r%ﬁaaq?ﬁaﬁ?ﬁﬁn :

cos 18°

cos75°
" sin 15°

sin 12° 3
cos 78° sin 72°

cos 35° B sin 11°
sin 55° €os 79°

cos 28° cosec 62°=1

sin 80°
cos 10°

SHEA AR A TEE 7
(a) Shaer 1 3R 2

(b) Fad 2 3R 3

(c) Faa | 3R 3

(d) 1,ée-ﬁt3

g —sin 59° sec 31°=0

25

86.

84. U Breiviig otk (SUM) ABC & 37 T
W SR gl ® | afe utdh & s w
T & S it =T R CHGH R,
@ B ABCH w69 &7 e FEi R E ?

(a) I
(b) wRfer
(¢ o ¥
(d) = Fe
8S. tanl°tan2°tan3° tan4°. . . tan89° En'THFT
w18 ?
(a) 0
o) 1
© 2

@ 3

e X o 3ftad 3k 838 | we ¥ & 3it|d
3H 76 & | FET Z o 3G 31 85 T | e
X 3R e ¥ & 3ftad 3k 79 B, 3R wem
Y 3R &M Z & sited st 81% | X, vk
Z &7 3O 3k W1 ?

(@) 81.5

“(b) 805
) 790
(d) 780

A — SDC-S-TRD



87.

88.
- observations 1s 20-5.

89.

90.

For x>0, if a variable takes discrete
valuesx+4,x~3-5,x—-2-5,x-3,x-2,
x+0-5, x—0-5, x+5, then what is the
median ?

(a) x—1-25

(b) x-0-5

(c) x+05

(d) x+1:25

The median of set of 9 distinct

If each of the
largest 4 observations of the set is

increased by 2, then the median of the

new set
(a)
©
©)
@

is increased by 2
is decreased by 2
is two times the original median

remains the same as that of original
set ‘

A cricketer has a certain average of
10 innings. In the eleventh inning he
scored 108 runs, thereby increasing his
average by 6 runs. What is his new
average ?

(a) 42
(b) 47
(c) 48
(d) 60
The mean of 20 observations is 17.
On checking it was found that the two
observations were wrongly copied as

3 and 6. If wrong observations are
replaced by correct values 8 and 9, then
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(a) 17-4
(b)
()

(d)

16-6

15-8

14-2

Number of credit cards held by an
individual can be treated as

(a) Qualitative data

(b) Discrete data

(c) Categorical data

(d) None of the above

In a class of 100 students, there are
70 boys whose average marks in a
subject are 75. If the average marks of

the complete class is 72, then what is the
average marks of the girls ?

(a) 64
(b) 65
(c) 68
(d) 74
A pie chart depicts the classification of
total funds of an organization according
to different sources of funds. A particular
sector of pie chart for corporate tax has
108° angle at' the centre. What is the

percentage of income from corporate tax
to total funds ?

(a) 20%

(b)) 25%

(c) 30%

(@ 35%
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x>0 foru, afg o =), fafemam x + 4,
x—35 x-245, x-3, x-2, x+0-5,
x—0-5,x + 5T &, Al AR T 8 ?
(a) x-125
(b) x-05
(c) x+0:5
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17-4
16-6
15-8

(a)
(b)
(c)

@ 142

B v . .Y
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(@) 64
()
(c)
(d)

64
65
68
74
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A &1, Fvg ) 108° T 0 FATET © |
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(a)
(b)
(c)
(d

20%
25%
30%
35%

A — SDC-S-TRD



94.

9s.

96.

97.

Consider the following statements :

1. The classes of type 15-19, 20-24,
25-29 etc. are exclusive classes.

2. The classes of type 15-20, 20-25,
25-30 etc. are inclusive classes.

Which of the above statements is/are
correct ? ‘

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Suppose the class interval 10-15 has

frequency 30, then what is the frequency
density of this class interval ?

(@ 2
(b) 3
(c) 5
@ 6
Let S be a set of first ten natural

numbers. What is the possible number of
pairs (a, b) where a, b € Sand a # b

such that the product ab (>12) leaves

remainder 4 when divided by 12 ?
(a) 4

(b) 6

(c) 8

(d 10

What is the remainder when _
13°+14°+15°+16° is divided by 29 ?

(a) 8
(b) 5
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() 3
(d 0
What is the difference between the sum

of the cubes and that of squares of first
ten natural numbers ?

(a) 2280
(b) 2640
(c) 3820
(d) 4130
A motorist travels to a place 150 km
away at an average speed of 50 km/hour

and returns at 30 km/hour. What is the
average speed for the whole journey ?

(a) 35 km/hour
(b) 37 km/hour
(c) -37-5 km/hour
(d) 40 km/hour

1
—'1=2, then what 1s x
1+—T
2+—
3

If x+

equal to ?

(a)

(b)

(c)

(d)
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Note : English version of the instructions is printed on the front cover of this Booklet.



